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‚Ê◊ÊÁ¡∑§ ÁflôÊÊŸ ó ÁmÃËÿ ¬òÊ
SOCIAL SCIENCES – Second Paper

‚◊ÿ — 3 14   ÉÊá≈U
¬ÍáÊÊZ∑§ — 40

¬⁄UËˇÊÊÁÕ¸ÿÙ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —

General Instructions to the Examinees :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –
All the questions are compulsory.

3. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

4. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.

5. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
There are internal options in Q. Nos. 23 & 24.

6. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ øÊ⁄U Áfl∑§À¬ •, ’, ‚
•ÊÒ⁄U Œ „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U Á‹π¥ —
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There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D . Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§
Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of

the Answer

1.      (i)

1.      (ii)

1.      (iii)

1.      (iv)

1. (i) Ÿ√ÿ∑§⁄UáÊËÿ ‚¢‚ÊœŸ „ÒU
(•) ∑§Êÿ‹Ê (’) πÁŸ¡ Ã‹
(‚) ‹Ê„UÊ (Œ) ◊ÎŒÊ – 
Renewable resource is

(A) Coal (B) Petroleum

(C) Iron (D) Soil. 1
2  

(ii) ŸÁŒÿÊ¥ ∑§ «UÀ≈UÊß¸ ÷Êª ∑§Ë ◊ÎŒÊ „ÒU
(•) ¡‹Ê…∏U (’) ∑§Ê‹Ë Á◊^ÔUË
(‚) ˇÊÊ⁄UËÿ (Œ) ‹≈U⁄UÊß≈U – 
Soil in river deltas is

(A) Alluvial (B) Black soil

(C) Alkaline (D) Laterite. 1
2  

(iii) ⁄UÊ¡SÕÊŸ ∑§Ê ¬⁄U◊ÊáÊÈ ‚¢ÿ¢òÊ ÁSÕÃ „ÒU

(•) Ÿ⁄UÊ⁄UÊ ◊¥ (’) ∑¢§∑§⁄U¬Ê«∏UÊ ◊¥

(‚) ⁄UÊflÃ÷Ê≈UÊ ◊¥ (Œ) ÃÊ⁄UÊ¬È⁄U ◊¥ – 
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Atomic plant of Rajasthan is located at

(A) Narora (B) Kankarpara

(C) Rawat Bhata (D) Tarapur. 1
2  

(iv) Áfl‡fl ◊¥ øÊÿ ∑§Ê ‚’‚ ’«∏UÊ ©Uà¬ÊŒ∑§ ∞fl¢ ©U¬÷ÊÄÃÊ Œ‡Ê „ÒU

(•) øËŸ (’) ÷Ê⁄UÃ

(‚) üÊË‹¢∑§Ê (Œ) ¬ÊÁ∑§SÃÊŸ –

Largest tea producer and consumer country in the world is

(A) China (B) India

(C) Sri Lanka (D) Pakistan. 1
2  

2. ÷Ê⁄UÃ ◊¥ ™§ŸË flSòÊ ©Uà¬ÊŒŸ ◊¥ ∑§ÊÒŸ-‚Ê ⁄UÊÖÿ ¬˝◊Èπ „ÒU ? 

Which is the primary woollen producing state in India ? 1
2  

3. «UéÀÿÍ0 ≈UË0 •Ê0 ∑§Ê ¬Í⁄UÊ ŸÊ◊ Á‹Áπ∞ –

Write full form of W.T.O. 1
2  

4. √ÿÊfl‚ÊÁÿ∑§ ‚¢ª∆UŸ ∑§Ê •Õ¸ Á‹Áπ∞ – 

Write the meaning of business organisation. 1
2  

5. ‚¢ÿÈÄÃ ˇÊòÊ Á∑§‚ ∑§„UÃ „Ò¥U ? 

What is Joint Sector ? 1
2  

6. ’„ÈU⁄UÊc≈˛UËÿ ∑§ê¬ŸË ∑§ ∑§Êß¸ ŒÊ ©UŒÊ„U⁄UáÊ ŒËÁ¡∞ – 

Give any two examples of multinational companies. 1
2  + 12  = 1

7. Á¡‹Ê ◊¢ø ∑§ ˇÊòÊÊÁœ∑§Ê⁄U ∑§ ŒÊ •ÊœÊ⁄U Á‹Áπ∞ – 

Mention two bases of the jurisdiction of district forum. 1
2  + 12  = 1
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8. ‹ÉÊÈ ⁄UÊ∑§Á«∏UÿÊ Á∑§‚ ∑§„UÃ „Ò¥U ? 

Who is called petty cashier ? 1

9. ©U¬÷ÊÄÃÊ ‡ÊÊ·áÊ ∑§ ∑§Êß¸ ŒÊ ∑§Ê⁄UáÊ Á‹Áπ∞ –

Write any two causes of consumer exploitation. 1
2  + 12  = 1

10. πÊÃÊ¥ ∑§ ◊ÈÅÿ flªË¸∑§⁄UáÊ ∑§Ê øÊ≈¸U mÊ⁄UÊ ¬˝ŒÁ‡Ê¸Ã ∑§ËÁ¡∞ – 

Show the major classification of accounts by charts. 1

11. ªÛÊÊ ©Uà¬ÊŒŸ ∑§ Á‹∞ •Êfl‡ÿ∑§ ∑§Êß¸ ÃËŸ ÷ÊÒªÊÁ‹∑§ Œ‡ÊÊ∞° Á‹Áπ∞ –

Write any three necessary geographical conditions for sugarcane

production. 1
2  + 12  + 12  = 1 

1
2 

12. ÃÊê’Ê ∑§ ∑§Êß¸ ÃËŸ ©U¬ÿÊª Á‹Áπ∞ –

Write any three uses of copper. 1
2  + 12  + 12  = 1 

1
2 

13. ÷Ê⁄UÃ ‚⁄U∑§Ê⁄U mÊ⁄UÊ ŒÊ ’ìÊÊ¥ ∑§ ◊ÊŸ∑§ ‹ÉÊÈ ¬Á⁄UflÊ⁄U „UÃÈ ÉÊÊÁ·Ã ¬˝⁄U∑§ ¬Ò∑§¡ ∑§ ∑§Êß¸ ÃËŸ Á’ãŒÈ
Á‹Áπ∞ – 

Write any three  points announced as motivating package by

Government of India for standard small family of two children.

1
2  + 12  + 12  = 1 

1
2 

14. ⁄UÊ¡SÕÊŸ ◊¥ •ÊÁÕ¸∑§ ÁŸÿÊ¡Ÿ ∑§ ∑§Êß¸ ÃËŸ ©Ug‡ÿ Á‹Áπ∞ –

Write any three objectives of economic planning in Rajasthan.

1
2  + 12  + 12  = 1 

1
2 

15. SflŒ‡ÊË •flœÊ⁄UáÊÊ ÄÿÊ „ÒU ? ß‚ •flœÊ⁄UáÊÊ ∑§Ê ªÁÃ‡ÊË‹ ’ŸÊŸ „UÃÈ ∑§Êß¸ ŒÊ ‚È¤ÊÊfl ŒËÁ¡∞ –

What is the concept of Swadeshi ? Give any two suggestions to make

Swadeshi concept dynamic. 1
2  + 



 2 ×  12    = 1 

1
2 
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16. ©Uà¬ÁûÊ ∑§ •ÊœÊ⁄U ¬⁄U ‚¢‚ÊœŸÊ¥ ∑§Ê flªË¸∑§⁄UáÊ øÊ≈¸U mÊ⁄UÊ ¬˝ŒÁ‡Ê¸Ã ∑§ËÁ¡∞ –

Show the classification of resources according to origin by charts.

1 
1
2 

17. ◊ÎŒÊ ‚¢⁄UˇÊáÊ ∑§ ∑§Êß¸ ÃËŸ ©U¬Êÿ Á‹Áπ∞ –

Write any three measures of soil conservation. 1
2  + 12  + 12  = 1 

1
2 

18. ÷Ê⁄UÃ ∑§Ë ¡Ÿ‚¢ÅÿÊ ŸËÁÃ ∑§ ŒÊ ÃàflÊ¥ ∑§Ê ©UÀ‹π ∑§ËÁ¡∞ – 

Mention two factors of population policy of India. 3
4  + 34  = 1 

1
2 

19. •ÊÁÕ¸∑§ ÁŸÿÊ¡Ÿ ∑§Ê •Á÷¬˝Êÿ S¬c≈U ∑§ËÁ¡∞ – 

Explain the meaning of economic planning. 1 
1
2 

20. ‹Ê„UÊ-ßS¬ÊÃ ©UlÊª ∑§Ë SÕÊ¬ŸÊ ¬˝Êÿ— ∑§ëø ◊Ê‹ ©Uà¬ÊŒ∑§ ˇÊòÊ ∑§ ÁŸ∑§≈U ∑§Ë ¡ÊÃË „ÒU –
ÄÿÊ¥ ? 

Why is Iron and Steel industry mainly located near the area producing

raw materials ? 1 
1
2 

21. ⁄UÊÖÿ ©U¬÷ÊÄÃÊ •ÊÿÊª ∑§Ê fláÊ¸Ÿ ÁŸêŸÁ‹ÁπÃ ‡ÊË·¸∑§Ê¥ ∑§ •ŸÈ‚Ê⁄U ∑§ËÁ¡∞ —

(∑§) SÕÊ¬ŸÊ

(π) ª∆UŸ

(ª) ˇÊòÊÊÁœ∑§Ê⁄U

(ÉÊ) •¬Ë‹ – 
Describe the State Consumer Commission according to the following

heads : 1 + 1 + 1 + 1 = 4

(a) Establishment

(b) Organisation

(c) Jurisdiction

(d) Appeal.
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22. ÁŸêŸÁ‹ÁπÃ √ÿfl„UÊ⁄UÊ¥ ∑§Ê ªÈåÃÊ ’˝ÊŒ‚¸ ∑§Ë ¡Ÿ¸‹ ◊¥ Á‹Áπ∞ —

2009     L§0

ÁŒ‚ê’⁄U, 2 ◊Ê‹ Ÿ∑§Œ π⁄UËŒÊ 40,000

ÁŒ‚ê’⁄U, 7 ◊ÈãŒ«∏UÊ ’˝ÊŒ‚¸ ‚ ◊Ê‹ π⁄UËŒÊ 15,000

ÁŒ‚ê’⁄U, 12 ‚ÁøŸ ∑§Ê ◊Ê‹ ’øÊ 5,000

ÁŒ‚ê’⁄U, 18 ◊Ê‹ Ÿ∑§Œ ’øÊ 25,000

ÁŒ‚ê’⁄U, 20 ◊ÈãŒ«∏UÊ ’˝ÊŒ‚¸ ∑§Ê ◊Ê‹ ‹ÊÒ≈UÊÿÊ 500

ÁŒ‚ê’⁄U, 25 ‚ÁøŸ Ÿ ◊Ê‹ ‹ÊÒ≈UÊÿÊ 1,000

Enter the following transactions in the Journal of Gupta Brothers :

1 + 



 6 ×  

1
2    = 4

2009      Rs.

December, 2 Purchased goods for cash 40,000

December, 7 Purchased goods from

Mundra Brothers

15,000

December, 12 Sold goods to Sachin 5,000

December, 18 Sold goods for cash 25,000

December, 20 Returned goods to Mundra

Brothers

500

December, 25 Returned goods by Sachin 1,000
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23. ÷Ê⁄UÃ ◊¥ ’⁄UÊ¡ªÊ⁄UË ∑§ øÊ⁄U ∑§Ê⁄UáÊÊ¥ ∞fl¢ ’⁄UÊ¡ªÊ⁄UË ∑§Ë ‚◊SÿÊ ∑§ ‚◊ÊœÊŸ „UÃÈ øÊ⁄U ‚È¤ÊÊflÊ¥
∑§Ê S¬c≈U ∑§ËÁ¡∞ – 

•ÕflÊ

÷Ê⁄UÃ ◊¥ ◊ÍÀÿ flÎÁh ∑§ øÊ⁄U ∑§Ê⁄UáÊÊ¥ ∞fl¢ ◊ÍÀÿ flÎÁh ∑§ ÁŸÿ¢òÊáÊ „UÃÈ øÊ⁄U ©U¬ÊÿÊ¥ ∑§Ê S¬c≈U
∑§ËÁ¡∞ –

Explain any four causes of unemployment in India and four measures

to solve the problem of unemployment. 



 4 ×  

1
2    + 



 4 ×  

1
2    = 4

OR

Explain any four causes of price rise in India and four suggestions to

control it. 



 4 ×  

1
2    + 



 4 ×  

1
2    = 4

24. ⁄UÊ¡∑§Ëÿ ©U¬∑˝§◊Ê¥ ∑§ øÊ⁄U ‹Ê÷Ê¥ ∞fl¢ øÊ⁄U „UÊÁŸÿÊ¥ ∑§Ê ’ÃÊß∞ – 

•ÕflÊ

‚„U∑§Ê⁄UË ‚¢ª∆UŸÊ¥ ∑§ øÊ⁄U ‹Ê÷Ê¥ ∞fl¢ øÊ⁄U „UÊÁŸÿÊ¥ ∑§Ê ’ÃÊß∞ –

State four merits and four demerits of public enterprises.





 4 ×  

1
2    + 



 4 ×  

1
2    = 4

OR

State four merits and four demerits of Co-operative organisations.





 4 ×  

1
2    + 



 4 ×  

1
2    = 4

                        


